““““ 7T deson usnada rodyody §

AHETHONRLN KR ME MANAYOd] |

00'19 (9AT) Toh | h ca0Ly
00881 |0000°0 D096°0 OFey GOTT'ST Ae00°LPT {DO0TT o0’y {oouno 00U8°91  [0000°C 00801 0009'SL  [008€°8T Q00°0 0000'9¢ {00000 08064 0094t [Oy%73 THad) Twinds =ff
dO00# |d00°LE 4009 d 0010 [d 00°00F {d 007587 {d oo'oct d 00609 {d 00°6E i F90°09  |d60'0<T 1d 0 008 {d0o0ure & 00°C¢ [FLORE
DOGYN  JOTHOE'G 00230 {00000 [0000°72 04L060°C ORETO 00000 D097 T O68T°0 1000070 Jo0GoD  |0000°L 00000 0950°0 OhEFTE N 0.101
i BN CHIIIRHLOY
081 [EUTEIRETRTE T
%4 wEAdHAY
T FOHUEULO ONYK
09
I 14 87 < i
9 6 [ i 14 6T [%Y 8
J = = > d J K4 £ 3 [} 7 K4 4
L3 B 8 b= > = = P 2 g 2 2 = 2 N “ = S 4 o 2 2 9
2 £ s % 3 b} & o o 2 S = » & kg I E z 2 = S =
g 3 g ] g T 3 i - ] g H 7 A g Pl g 3 2 z 3 b g 2 E
2 E Py F ] < I 5 - = 2 £ ¢ u 2 b1 = 2 =
E g £ | E 3 H g g A S N - B - 3] F
¥ [ k4 g ) 2 e g g 2 2 7 g = N H
4 & g ] & E4 z g z ‘g Z a 2 s ]
8 E z £ H » E = 3 3 4 = S
2 g - 3 H g B -] = m 4 REQIIQ OMHRSOHINMEH
g L & z o < ]
g g A: Z
- m M
< S :
R
K
= {*418 1) RXOAOIIR OIOHT0 RH IXKRLNCE XMWV OU ‘BHHR T aoyAvodn 0RLDBHTON
090
o018 (9Ad) "rah T e cuay
OV TV 00TT'EET 0000'C 00000 j0000%0  [0000'C [0OCC'SEE 600G [0000°D  JO0OZ'S1T [0000G  |OGO8 v2i J0O0L £9 00000 [OG &1 00000 1000C'C JOODO0 [00GO'8ZT[0000C  JoOvZ 0 [00968 JO0¥TT  |O0RGC 00'9L6 {'9Ad] Awwk> ey
40T 400092 = [d00'sz [eo0'eE 4007t |400°G0E 10081 [40005y (400742 (400009 |400TSE (400755 [a005p 0008 |d000ST |JO0GEE (400011 4005 [dooors (40001 |2u0es [d0000T (40558 (‘9Ad) ewahy
6036°C 02150 0000 {0000°0 0000'9T  [0000°0 {00000 [0952°0  [0000'C 08070 [0z6T'0  [00000_ J000KD |0G00'0 . |0000'0  |0000'C 00000 |0009T [0000°0 05200 Jo05T 0 [09T0°0 |0000'0 aneliae W oJauY
9f walay oaLIKMYOy
p43 RLIOHOY
4} [ aoLuAdpoxLd tn 1000y
91 onnondon dis)y
] [ WOEDIRW 3 QoY
1 20ndealo ongK
i [ T <L 1 02211000 orudin 3 wensAdiuAN vmvy
d = 7] () g 3 g z 7 =z
T E | ST s F [ f [ F [ sl s F [ F e s 17 (s (7 15z z
C T T - S T T - U A - T - T - I 2 |3 |3 E | E | FELE|E | B
7 k4 1 Z 2 H S 3 S 2 et 2 = 5 g H & 3 £ 2 & 4 s g &
z ] z g | 2| & |2 2 < g g i z H 2 | 3 2 z H ] 3 g 2 g
H = 2 I 3 2 & 2 g H = o ] b1 ® &
g 2 RN 3 g g g E § | 2 2 z g ] 5|3 g g
r < | ) -
g 1 I H & g ] g H 3 ] 3 3 2 3
a 8% ﬁj H g z 2 - £ & ] H z g
4 g g = 8 -4 2 2 ] = m Z BU0IIG SUHREOHIWHER
3 s & 4 ) e 2
g 5 z :
£ 3
=t »
W0 woarAodn CBRLIBRMVOY
7 enurLy nediaeg
{ ‘) WY eaogexteq J {z07 Swaduy o
wvonrn doxiadulf yunelny solAYody Anetiag en
‘otethmdanig IMHVE093d1-OHIW
« MOQ BENIBOHUBL) ™, KON




